
Page 1 of 2 - A 

INSTALLATION INSTRUCTIONS 
#310 Alternate Mounting Kit 

 
PARTS CHECKLIST 

 
 
 
 
 
 
 
 
 
 
 
 

#11 (2) 310 MOUNT 
BRACKET 

   

              
#10.4.2 (2) 5/16” WING KNOB NUTS #10.4.1 (2) 5/16” x 3/4” CARRIAGE BOLTS    #10.4.3 (2) 3/8” WASHERS  
 
Tools needed for standard installation 
• 18mm Socket and Ratchet 
 
PLEASE READ ALL INSTRUCTIONS THOROUGHLY BEFORE STARTING INSTALLATION.  THESE INSTRUCTIONS ARE 
DESIGNED TO BE USED IN CONJUNCTION WITH THE INSTALLATION INSTRUCTIONS FOR PART# 310. 
 

Note:  These instructions replace Step #3 & #5 in the #310 Installation Instructions. 
 

1. Loosely assemble the #1 Front Panel, and the (2) #11 Mount Brackets using the hardware supplied as shown 
in Figure 1(SEE PAGE 2). The round holes in the #11 Mount Brackets should be forward and outboard of 
the square holes, and should be installed in the outer slotted hole of the #1 Front Panel. 
 

2. Use the 18mm Socket to remove the (2) OEM outer seat mount nuts (securing the seat mount to the floor).   
 

3. Place the #1 Front Panel into the vehicle as shown in Figure 1 with the round holes over the seat mount 
studs, and loosely reinstall the (2) OEM seat mount nuts.  
NOTE: This will capture the head of the Carriage bolt between the floor and the #11 Bracket making 
future removal/installation easier. 

 
4. Continue installation according to the #310 Installation Instructions returning when complete to tighten the 

(2) #10.4.2 Wing Knob Nuts, and the (2) OEM outer seat mount nuts. 
 
 
 
 
 
 

Call (970)564-1762 for Technical Support 



Page 2 of 2 - A 

 

Figure 1 

 
 

 
 
 
 

                         
 
 

 


	INSTALLATION INSTRUCTIONS
	#310 Alternate Mounting Kit
	Tools needed for standard installation
	PLEASE READ ALL INSTRUCTIONS THOROUGHLY BEFORE STARTING INSTALLATION.  THESE INSTRUCTIONS ARE DESIGNED TO BE USED IN CONJUNCTION WITH THE INSTALLATION INSTRUCTIONS FOR PART# 310.



